	0. 
	Parts No.
	Item: PRO V series(V3.0)

	1. 
	R0346
	Gypsy Cover

	2. 
	 R0163
	V700 motor gasket

	3. 
	A0002(14)(24)
	Torque Limiter(6)(1)

	4. 
	R0170(N)(A)(S)-2
	Chain Tunnel Cover

	5. 
	Gypsy refer to the chart below
Gypsy 6 or 7 or 8mm

	6. 
	R0024-15
	Screw M6x15 sus

	7. 
	R0121 
	Sus Washer M18x1.5

	8. 
	R0197-40
	Sus M6x40 

	9. 
	R0347(R0171-2)
	Pro V Drive Shaft

	10. 
	R0169S
	Tension Arm sus

	11. 
	R0184
	Tension Arm Spring

	12. 
	R0268
	Bush sus(A )

	13. 
	R0023-(15)
	M5x15 Screw sus

	14. 
	R0095-I
	6x15 key

	15. 
	R0168S
	Release Arm sus

	16. 
	R0222
	M5 Bronze Washer

	17. 
	R0023-(12)
	M5x12 sus(A)

	18. 
	R0072
	Oil Seal

	19. 
	R0194
	Washer

	20. 
	R0197(40)
M6x35 sus
	Screw M6x40 sus



	21. 
	R0166(N)(A)(S)
	Base

	22. 
	SR0197-(35)(45) sus M6x35(A,S) M6x45(N) 
M6x35, M6x45

	23. 
	R0075
	Ball Bearing

	24. 
	R0216
	M6 Nut

	25. 
	R0200
	Spring

	26. 
	R0172
	No.3 Shaft

	27. 
	R0173
	No. 2 Shaft

	28. 
	R0069I
	19mm S Clip

	29. 
	R0176
	No. 4 Gear

	30. 
	R0069-I
	19mm S Clip

	31. 
	R0003
	Bush

	32. 
	R0177
	No. 3 Gear

	33. 
	R0223
	10.5x0.3 mm Washer

	34. 
	R0179
	No. 2 Gear

	35. 
	R0224
	6.5x0.3 mm Washer

	36. 
	R0212
	M5x25

	37. 
	R0175 
	V600 Gasket 

	38. 
	R0165
	Gear Box

	39. 
	R0206-S
	Capstan Nut(C)

	40. 
	R0211,R0186-3 
	Motor V700 or V1000

	41. 
	R0221
	M16 bronze washer(C)

	42. 
	R0187
	Capstan 64mm(C)

	43. 
	R0339


	VC shaft socket(C)

	44. 
	R0407 
	V700 Brake Cover  

	45. 
	R0171(C)
	Main Drive Shaft(C)

	46. 
	R0095-s
	6x15 key sus(C)

	47. 
	A0010-V
	Electric Brake

	48. 
	 R0232-40
	3x40 screw sus  

	49. 
	R0153-23 
	3x23 screw 

	50. 
	 R0404
	 Drive hub

	51. 
	  
	 

	52. 
	R0217
	Chain way panel (A)

	53


	R0218
	Roller(N)

	54
	R0219
	Roller shift(N)

	
	
	

	
	
	

	
	Note: (N): VN series only

(A): VA series only

(S): VS series only

(C): with capstan model

(1): V1000 series only

(6): V600 series only



	
	

	
	

	
	

	
	

	
	

	
	

	
	


      [image: image1.jpg]PRO VN600, VAG600(C), VA1000(C), VS600(C), VS1000(C)




	Gypsy
	Suit Chain
	Suit Rope

	R0014-B
	6mm
	12mm, 1/2”

	R0156-2
	7mm, 1/4”
	12mm, 1/2”

	R0067-2
	8mm,5/16”
	12~14mm


